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1. AABC O AB OIEE FIC S D%, HACOIER FIC ME %2t 3. ##9 BE & ##99 CD DX mi% P, i AP & %
TBC LOREE QLT3 AABP =9cm? , AACP =12cm? , APCB =3cm?® D ¥ &, ROBNWCEZ L. 7277 L, KX IEHE
CAFIR & 720, (SHe2%r, A%s5%, B¥k 74, C#%10%7)

(1) BQ:QC %R &,

(2)  AABC OHifE%E R X.
B Q ¢ (3) AB:BD %Xk k.

(4) APDE OHifE%ERD X.
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2. AABC D 3AB EIC fiD%,AC LI RE 22 5. 9 BE & #% CD L DX &% P, ##77 AP ¥ % DE , #&%
BC *OXEEFNZFNR QR T 5. AADP = 12cm? , AAEP = 10cm? , AADE = 18cm? D& &, XOMICEZ XK. 7277
L, RUKIERE 2 R 5 72w, (SHk2208, A5, BRT7459, C#% 1043 )

(1) DQ:QE &k X.
(2) APDE OEfEZRD k.
D E (3) AE:EC &R &.

. (1)  APBR OEMZRD &,
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R&I7R - FERR SO ERL SAF £ro 03 REEH

1. AABC ® M AB OIEE FIC D%, UACOEEIC SHE 22 %. 859 BE ¥ ##5 CD Y OX % P, #5 AP ¥ %
7 BC DX E%E QY $5. AABP =9cm? , AACP =12cm? , APCB =3cm? Ok &, ROMICEZ X, 7272 L, KUK ERE
CAFRR S 0. (S#k2%r, A5%r, BR7459, C#%104%)

(1) BQ:QC %Xk k.
(2)  AABC OHifEERD X.
B Q C (3) AB:BD %#Xk® k.
(4) APDE OHWHEZR®D k.
D % ¥

E
(1),(2) A
(1) £A£M»56,BQ:QC=AABP: AACP=9:12=3:4
o »C
— U ABPC — APCB
’ = 9cm?+12cm? — 3cm?
= 18 cm?

APBD OMHEE xcm? 3 5.

CBIZHEHEHLT,

AB : BD
= ACAB : ACBD
= 18 : (z+3)

PBIZIEHL T,
AB : BD
= APAB : APBD
9 : x

PE»s,18: (z+3)=9:2 & z=3 = AB:BD=9:3=3:1

DP:PC=ABDP: ABPC=3:3=1:1
XTI ADEED S,

bB AE CP

BA EC * 0 !

N % N % 1 = AE:EC=3:1 > AC:CE=2:1

1
3
ETR)PS,
APAD :PDE=CA:CE=2:1

Lo T,
APDE = %APAD
1x(943) = 6cm?

SRR T2 EABBZDT, WAWAFARTAS L L.
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2. AABC D 3AB EIC fiD%,AC LI RE 22 5. 9 BE & #% CD L DX &% P, ##77 AP ¥ % DE , #&%
BC *OXEEFNZFNR QR T 5. AADP = 12cm? , AAEP = 10cm? , AADE = 18cm? D& &, XOMICEZ XK. 7277
L, RUKIERE 2 R 5 72w, (SHk2208, A5, BRT7459, C#% 1043 )

(1) DQ:QE ZXk® k.
(2) APDE OEfEZRD k.
(3) AE:EC #k® k.

D
E
. (4)  APBR Of%ERD &,
R C

B
(1),(2) A
(1) £M»56,DQ:QE=AADP: AAEP=12:10=6:5
D - (2)
APDE = A ADPE — AADE
I SR = 12em? +9cm? —  18cm?
B R C = 4cm
APEC OEEZ zcm? ¥ 3 5.
DE ZIFHL T,
AE : EC
= AADE : ADCE
= 18 : (z+4)
PEICHEHLT,
AE : EC
= APEA : APCE
= 10 : x

PE»S, 18 : (2 +4)=10:2 & x=5 = AE:EC=10:5=2:1

DP:PC = AEDP: AEPC=4:5

X2 T T ZDEBMNS,
CE  AC  DP _
EA CD PC
. 1 AC 4 _ e s . _ 9.
B«A. 3 X @p X § =1 = AC:D=5:2 = AD:DB=3:2
ETR)»S,
APAB : APBC = EA:EC=2:1
APBC : APCA = DB:DA=2:3
HItXb, APAB : APBC : APCA = 4:2:3

BR:RC=APAB: APCA =4:3

APBR APBC

ISTIEER 'S
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